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The negotiations reached an ........ when

both parties refused to compromise on
critical issues.
A. impasse
C. denouement
E. Inception

[ (BeA: A):

B. culmination
D. prelude

[mpasse HEE], 9T QU m [SIE It
@A SR Sesife weq ww, favw
@ @ [qranes oFE
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(Impasse) 2 219 <47 |
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17.

18.

19.

Despite the company's rapid growth
and market expansion, its profits have
remained relatively stagnant, largely
because of an inability to control costs,

which ........ rising steadily over the
past years.

A. has been B.is

C. have been D. were steadily

E. None

A (Bea: C): ewe A *i%" have
been FTA IR Sy TR | @A IE WIS
T TF X IO Al JAMS present
perfect continuous tense Zd | Relative
pronoun €3 %7< plural verb 2% #7a plural

verb Z1d have been 371z |

Although the scientist was initially
............ by the complexity of data, he
soon developed a theory that not only
explained the results but also predicted
new patterns.

A. bewildered B. intrigued

C. exonerate D. mollified

E. placated

[ (TeR: A):

Bewildered fqare zea

Intrigued ezl

Exonerate kiR S

Mollified e <<

Placated g =4

IFIa 9d 9T @, [REM g9 =@ shael

o e e, 8 A fofy @ =g
TERE @ W FAEAGE] AR FE 4R
Sfegres S&em | Ok IMFA JE WP
w7« A (Bewildered) 2 i <13 |

The CEO’s approach to
leadership alienated many of his
subordinates, who felt stifled by his
rigid policies and lack of empathy.

A. autocratic B. deferential

C. benevolent D. pragmatic

E. laissez-faire

..............

20.

21.

T (Te: A):

Autocratic TeapE, R em  wWel

Deferential oy

Benevolent TSI

Pragmatic AT

Laissez-faire | 20%tel be7@  Aifs, «fb
TEaER wdAfen e
TS

grrod o @9 @, CEO @9 @2 4at=i L&arpiat
(TILEE T AS AT F Aok @14 FA0A
G372 R FPR A ¢ FRITEen ToR STHA
TS FEZ | OIR ACEA TG TAME T A
(Autocratic) 2 219 ¥ |

The board of directors was unanimous
in its decision, finding the plan both
........ and innovative.

A. imprudent B. provident

C. capricious D. volatile

E. perfunctory

1 (Te3: B):

Imprudent e

Provident ikl

Capricious A

Volatile Afgasaae
Perfunctory S-Sl

FFIa o @¥ @, “favEE @6 FETIeed
frare fafe, fesa R g3 Sed w=
WA AR | OR @R WY SPIE ST B
(Provident) 1 217 |

In contrast to last year model, the new
electric car feature a more efficient
battery and a streamlined design,
allowing it to travel farther on a single

charge and ....... Better in extreme
conditions.

A. perform B. performs

C. performing D. performed

E. None
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22.

23.

[T (TSF: A): /It (TS3: A):
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MY ing IF W 9 FBa base form =7 | Diatribe S A
1) 96 allow verb €9 AN ing & TH Myriad )
allowing =@tz | ©R % verb & perform Juxtaposition AP SR
A | O A @A s/es T& LI | e 9 9w @, FSIErn SR SenEs

qF54 subject 3™ person singular number
T G I TN FICAR A verb €3 A
s A es @1 W | IFMH @R TA Ao TS
performs |

TRIA] I1& IS bR G QA verb 93
A ing @ W e WA I @€
BN (I F1& AR A1 A performing
QA

Performed /€1 JRTCBz STor® FIETE (G 9041
| D] o7 AN AN T[S 77 |

I@Iod 9 ;O INEE WEER THAE, T
apfes aifere wafo @& IEa ol a2
9= Afess ez gz, T @t «f6 sie @+
Vg SNE Safe (7 932 5IW A SIS
FE FICO TFY A |

Although Simran was afraid of heights,
she seems to have no about
driving over bridges.

A. enormity B. qualms

C. imminence D. resurrection
E. None

Il (Te3: B):

Enormity T
Qualms wioe! a1 erest
Imminence [asaT)
Resurrection PAFL

Feiod 9 ONE @, e Swereite A
eoR J T o/ @ Srwt 1 gfvet fem A
T2 ICFR 9 PR WA B (qualms) 2 A9
A |

Because of the ......... of reliable
information, her report was comprised
mostly of speculation.

A. dearth B. diatribe
C. myriad D. juxtaposition
E. None

24.

25.

FR o f[an QFEen crraR Sm [99
fe@ | iR A 9 PR 9o A (dearth) 2
AA AT |

Q. 24-28 : Identify which underlined
section is incorrect for each sentence. If
there is no error, choose E

As far as (A) money is (B) concerned,
I'd (C) like to be (D) rich. No error (E).
Tl (Te: E): I Aheeng «ffe @3z
IFIBre TFAITS @ T @R | ©R ABE
Teq T3 97 E.

The restaurant had (A) burgers,
sandwiches (B), and pizzas; we ordered
(C) the former (D). No error (E).

/gt (TS3: D): Former *RG 9o 30604
WY QAN FRoALE RIS JIze [ | fFE
@2 foafe wWxGeEm wiffiwl =z Burgers,
sandwiches 932 pizzas | Git=@ The former
9q PIRR APE 77| AfdFend e TR the
first two 31 fafigena s=ite =@ Burgers &
sandwiches | ©12 $& 5i2*if6 z= The former.

26. None of us have (A) enough money to

undertake (B) the project alone, so we
had (C) to depend on (D) our parents.
No error (E).

1T (T€A: A): None of us F14@<® singular
R o1 @3z 93 WA singular verb 3T
¥ | ©I12 7AW A (S have @3 “R<TS has T
IS 0% =3 |

27. It was (A) serendipity rather than (B)

genius that leads (C) the archaeologist
to his breathtaking discovery of (D) the
ancient civilization. No error (E).

1A (B%3: C): IFIMHre TeIeF=a Toa1 3641
T4 TR | O% WA C (S leads 93 “fFae
led z= I35 7 =3 |
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28. The new guidelines mandate (A) that

students not only (B) submit (C) their
assignments on time but also participate
(D) actively in class discussions. No
error (E).

I (Bea: E): a9 Afeeng affe gz
IRIMHTS PN @A T @72 | O} AT
Ted @ 97 E.

29. Which of the following is the synonym of

LUGUBRIOUS?

A. Tremulous B. Sanquine
C. Engaged D. Gloomy
E. None

At (T=3: D):

I =% = Synonyms
Lugubrious feag Gloomy
Sanguine afex Incarnadine
Tremulous oiF Faint, timid
Engaged wfge Involved

30. Which of the following is the synonym of
QUIESCENT?
A. Fastidious B. Inactive
C. Complex D. Mournful
E. None
71 (Bea: B):

& = wg Synonyms
Quiescent = Inactive
Fastidious oY Pernickety
Complex wfbe Intricate
Mournful wie9d | Doleful

31.

A trader paid Tk. 300 for a shipment of
x identical pens. The trader gave two
pens free of cost and sold each for Tk. 5
more than the average cost of the x
pens. If the total revenue from the sale
of the pens was Tk. 120 more than the
cost of the shipment, how many pens
were in the shipment?

A.20 B. 24
C.28 D. 30
E. None

1t (Te3: D):

300
QT, xﬁws@,w:T

@ze 2 F99 free (8 MeW W, GRY 999
e =(x-2)

0
TS, (x—2)(3x_0+ 5)=300+ 120

300+5x
= (x—2)(T)=420
= (x—2) (300 + 5x) = 420x
= 300x — 600 + 5x> — 10x —420x =0
= 5x*-130x - 600=0
=x>-26x-120=0
=x>-30x+4x-120=0
=x(x—-30)+4(x-30)=0
=x-30)(x+4)=0

Lx=30=0 A, x +4=0
=x=30 x=-4
fTgx=—4

32. If the average of 5 positive integers is 40

and the difference between the largest
and the smallest of these 5 numbers is
10, what is the maximum value possible
for the largest of these integers? (¢fo
GAEE FAE TG 8o @R ¢S WM ITSW €
Faew AR AL do | JREN A AMA FAAH
T F© S AMMA?)

A.44 B. 48
C.50 D. 52
E. None

iyt (¥%3: B): WAefe,

2T 56 TSI X, X, X, X, X + 10
TS, X+X+x+x+x + 10 = 5x40
= 5x + 10=200
= 5x= 190
= x =38
. TG A7 = 38 + 10 =48
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33.

34.

A customer came to a shop and asked
the shop manager to give a 20%
discount on the listed price of a pen.
Moreover, for every 10 pens purchased,
he wanted two pens free of cost. The
manager agreed to the customer’s offer
because he could still make a profit of
20% on the cost price of a pen. What
was the listed price of the pen? (9¥&+
(&S] MFA AHCE 9R G AT GIZAFE
FE o Ja TR 0% TE fare @A
s &1 2fe Yot Fage samw o b ==
femmren 5I%0E | IIFT OR 2B AAfE Al
FEY 99 AHe T & YA 8Ad 0% A
FACS A | T 755 Io F©?)

A.1.75x B. 1.8x
C.:19x D. 2x
E. None

gt (Ba: B): 0+ 4, F904 listed T517 = P
i
80
20% %03 77 = P x 705 = 0.8P T
.'.lOﬁWT’U:O.SPx 10 = 8P 511
2f6 Free iz o o = 10 + 2 = 126
@37, 125 Feea 3= 8P B

. 1 b4 HQ ”
: 12
W[, 47, T = x B
120
20% =ItS 77 = X X 100 ~ 1.2x
8
WT}% =1.2x
1.2xx12
=>p="g¢g
=>p=18x

The fee for a course was increased by x
percent from that of the previous year.
Arif, a meritorious student, got y
percent waiver on his course fee for his
extraordinary performance. If the fee
collected from Arif is 60% of the course
fee of the previous year, what is the
value of y in terms of x?

35.

(936 et & o q=ma gaaE x =it e
A | WA 9T @U@ T 992 G O (FIA
AR TR T y *OI* TG AT | Sifawed
@ A T e @ AWz T @ o[ TS
I TN Yo MO | X 99 TN y 9 W
F9o?)

A. x+40 B. 100 (x+40)/(x+100)
C. 60x+10 D. (x+60)/(x+100)

E. None

7t (=3 B):

Let, previous fees 100

So, present fees = 100+x

Arif got waiver, then his fees = 100y
ATQ,

100+x 100~y _ (o

100 100
_, (100+x)(100-y) _ 60
10000 100

= 10000+100x—100y—xy=6000
= 100x—-100y—xy+4000=0
= y(100+x)= 100x+4000
100(x + 40)

x + 100
A box contains 200 pens of which 25%
are red and the rest are black. You sold
a certain number of pens, of which 60%
were black. You found that among the
remaining pens, only 20% are red. How
many pens did you sell? (93 373 200
TN Wk TA W% FE 93] ARG A |
sty ffdz sifasie @ faen sam @ vo%
A AT | A FANGTEAR 0% &7 7 | e

=2>y=

FOGTA| T4 (G FEfREA?)
A. 50 B. 60
C..175 D. 80
E. None
Tt (Be3: A): &1 @99 = 200 99 25%
25
=200 x 100 = 50f%

e ST = 200 — 50 = 150
Tefa, ¢7 oy sz = xB
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36.

37.

gHre, 50 — x 99 40% = (200 — x) 99 20%
40 20
= 50-xx 100 =(200 —x) x 100

= 5000 — 40x = 4000 — 20x

= —40x + 20x = 4000 — 5000

= —20x =-1000

=x=50

In a college, the ratio of foreign to local
students is 3:7. If three-fourths of the
local students are female and one-
quarter of the foreign students are
female, what fraction of the combined
students is female? (96 w7t famf ¢
FAw Frmditae et © ¢ q | gmE FrEdiom
feq-vedion @z famft fermdiorm as-vedien
e wfZE | @b et v wreie wfEE

ferwiafz)

A. 50% B. 60%

C. 64% D. 55%

E. None

1t (Bea: B): wwafa, famt fermd = 3x
«@qe g et = 7x

-, B Pt = 3x + 7x = 10x
vﬁ‘vﬂﬁfﬁtﬁ’f:(?x aag )+(3x aa%)

4
_20x | 3x
T4 4
21x +3x  24x
=T 4 -~ a4 &

6
W:ﬁx 100% = 60%

Apu, Babu, and Tipu bought a football.
Apu paid the largest amount of money,
Tipu paid twice as much as Babu, and
Babu paid the least. Apu paid Tk. 70
less than the difference between what
Babu and Tipu paid. If Babu and Tipu
had each paid Tk. 10 less, then Tipu
would have paid twice the amount Babu
paid. What is the price of the football?

A. 90 B. 100
C. 120 D. 130
E. None

38.

39.

gt (B8 D): «f, 59 «ifarire ¥ = x 5T
ik = 2x 51t

w3, «fF, g AR A=y "

guare, x =y —-2x—-70

=>x+2x+70=y

=3x+70=y

Y= F V0 ssasasasminnd (1)

IRE, x +2x +y=2x+(2x — 10) +(y — 10)

=>x+2x+3x+70=2x +2x - 10+ 3x +

70-10

= 6x+70=7x+ 50

=6x—-7x=50-70

=>-x=-20

=>x=20

. g ey @ = 3 x 20 + 70
=60+70=130

If x=5\/5, y=7+\/5and z=2+4\/5 then

which of the following is correct?

A.x>y>z B. x >z>y
C.y>x>z D.z>x>y
E. None

g (Bea: B): @, x = 51/5 = 11.18
y=7+5 =9.64
z=2+4[5 =10.94
RSy

When the integer n is divided by 4, the

quotient is p and the remainder is 1. But

when it is divided by 6, the quotient is q

and the remainder is 5. The value of

3q—2p is: (n YFiamE 8 =@ © T

ST T p aR e S | fFE @b o wE

Ol FAE ©IFE ¥ q 9R SO ¢ | 9q—Rp

Gq T F9?)

A.-2

€1

E. None

I (B&A: A): @%¥re, n=4p + |

=4p+1=n
=4p=n-1

n—1
=>p="3

B.-1
D.2
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40.

JqRE, n=6q+5

=6gq+5=n
=6q=n-35

n-5
=qQ="¢

- -1

s-2p-3(159) 2(25)
~n-5 m-1)
T2 T 2
~n=5-n+1
a 2
-4
_2___7_

X years ago, Apu was one-fifth as old as
Tipu was then. In x years, Tipu will be
twice as old as Apu. What is the ratio of
Apu’s current age to Tipu’s current
age? (x 23 9t o Fa0m@ wom wo@
fed a@-sewied | X qWR AR WYF [WOER TAAE
Bog w1 fawd 2@ w7 ¢ 7@ I8Tm FEE

TGS FE?)

A.2:5 B. 5:7
C..3:7 D. 5:13
E. None

17 (Bea: D):

weafa, x 3% ot oo a1 = Sy 9=
Grx " T oWy " o=y "
FE o 7 = Sy+x
FETMH WA T = y+X

gHS, Sy +x +x=2(y + x +X)

= S5y +2x = 2(y + 2x)

= Sy +2x=2y+4x

= S5y—-2y=4x-2x

= 3y=2x
2x
=>y=3

mmﬁﬁww:s.%x + x

_ 10x +3x
B 3
13x

3

. o e oo 9w =
41.

42.

L 2X  _2x+3x 5x
AT "=y v2="5 =3
s 13x_

373 =5:13

A 250-meter-long train passes a person
in 10 seconds, and the person was
running at 5 km/h in the opposite
direction of the train. What is the speed
of the train in km/h? (935« 41f% 2¢0 fG@
o q3fs G e e e 9% ¢ B
@ e were e g3 @A afefb so
cete Sfews @ 9B @Gava oife e

f&.f2)

A. 50 B. 65
C. 75 D. 85
E. None

Tt (Bea: D): @mm:z%) = 25 for/A.

=zsx% e . / @

=90 f&. fir. / e%r
WA, fRedre fare aewm sRTe S @
e @ + G @ = 90 f.f /9%
= 5 . /a1 + Gra @t = 90 fafa fa%r
= @ @ = 90, R i, /w1 - 5 e, /o
= G @ = 85 f&.f1. /9%
A team of 2 men and 5 women
completed one-fourth of a project in 3
days. After 3 days, one woman left and
one man joined the team. The newly
formed team took 2 days to complete
another one-fourth of the project. How
many days will 4 men take to complete
the project alone?

A. 6 B. 8

C. 12 D. 24

E. None
WM:A);&W,2M+5W=4L3
:>2M+5W=L ..................... (i)

12

1
IqEE, 3M + 4W = 4 %2
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1
:>3M+4W=§ ...................... (i)

() x4—-(i))x5=

8M+20W=%

15M+20W=§

1 4 1
T, M=54 =>4M=74=5%

1
.'.4mmg o 77 | A

1T " 6x1 =6

. What is the minimum value

4x*-16x-17?

A.-8 B.-29

C.-30 D.-33

E. None

gt (B@a: D): «fa, y = 4x>— 16x — 17

:%X =8x— 16

X

mmﬂ’éﬁgmw,% =0%T3

S8x-16=0

= 8x=16

=x=2

ny=422-162-17
=16-32-17=-33

44. When n liters of fuel were added to a

tank that was already 1/3 full, it was
filled to 7/9 of its capacity. In terms of n,
what is the capacity of the tank in
liters?

A. 10m/9 B. 4m/3
C.3m/2 D. 9m/4
E. None

it (B@a: D): wwafe, tank @9 €99 Fel =
X

P
a”:IW,3 m—xa?r9

- S
:>3 m—9

X

_Ix
:>m—9 3

_ &
=>m= 9

9m
:>4x=9m:>x=T

. If 3<x<7 and 5>y>2, which of the

following must be true?

A. x+y>8 B. x—y>0

C. x—2y<2 D. 2x-y>1
E. None

gt (Bea: D): 9,

3<x<7 qRS5>y>2
=] >X >3 =>y>2
=x>3

=2x>6

2x-y>6 =2x-y>4
71 e @a Sop D 71 71w |

General Knowledge
46. Sumerian civilization is a part of

civilization.

A. Mesopotamian B. Mayan
C. Hebrew D. Egyptian
E. None
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gt (Tea: A):

fara ebien Fore! (EAGRN | SIS
@7"1‘ Gooo OTH FAMFA Difaw ¢ TTFHH
T Tfa SHeerE EEAGIR Aered fawe
s | sy waw, Fifam, 2, 39w e gwe
ARG @2 B FoTerd W e | WA
TSR SEEE AACE FLHAW Fere!, e
TS|, WA TSl 8 FIACH Feyel |

CNTABAATS AT 2AToTH Hee! NG Sreifee
AT | AR e fem  @Eee
A1Rfe et | o WEE e fem 3R e
THS 56 FIFT &5F F0a | R e
i 93 fAfam Sem @@ Tl st e
syeifger wifeer Tadame ewged S |

47. Which one is the biggest religious and

social festival of the Chakmas?

At (B3 O):

AETewa  ©ffF  (d508-d8bd) faEw  «wEw
Gifewm =R R basa | $m s
fag fowas zr=1- The Persistence of Memory,
Galatea of the Spheres, The Ecumenical

Council, The Hallucinogenic Toreador.

fergmodt wy fefe
el w fefde (38ce-sess 7.) uaem To@m
FEed foafig | o sdeem Feeera fifey
ot afeme sfaferen Izm a3 | o 3
ez 2#l- cRifErT (afb seoo @@ deov
stea W tefd =w), The Last Supper (3@
% om foa | e foaft Siwre © ¥=a T
st | o a$una Toifem fmmea e e
oA gife e AafFe wz), Vituvian Man.

AR

A, Bijou B; Sy TREEE (389¢->ev8 ) @EE TR
g. I\\J)Vangala D. Sangrai e Tody orEa, foa, 7ofe @3 3R | 9
AN fadire srEFderal zE- David, Pieta, Moses,
:;Nn Wﬁm‘:) bbbt e The Creation of Adam, The Last
, Judgment.
T 24 TSR “frTeT oIt
stTeat axelEl (437 e FAIfEs) R T . e foafemh,
ol feg/fe el orEa, R e AbEE Sm e
fasg e (38ae) fow@tfa W4 Guernica, The Young Ladies
RiER HIR (IE3e) of Avignon, The OIld Guitarist, The
EIRIET] LIS Weeping Woman Si7e¥ |
wero@t ACNSR (T AN ST % eptatet
eeE i feTmrE Simae (Sveo-dvdo fH.) 9wem e
@ Fa13 o fowea | o fadie fowef- The Potato
e @ Eaters, Sunflowers, The Starry Night, Café

48. Who is the painter of The Persistence of

Memory?

A. Michelangelo
C. Salvador Dali
E. None

B. Leonardo da Vinci
D. Monet

49.

Terrace at night, Bedroom in Arles.

Which of the following is NOT a
contagious disease?

A. Smallpox B. Typhoid
C. Tuberculosis ~ D. Mumps
E. None
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50.

Fnt (Be3: B):

@ FFE @G G Y, AN A T @E G
AR #AE & Fa srwa A@weE (Infectious
Diseases) @17 ata | S3wwe @3S A@Fms @ q
IO AT T AE |

74 f#g Infectious @@ @19 @a AL
e fae@m @ s@ smwa @Ems (Contagious)
@ A @E- efbeme (Smallpox), @I
(Tuberculosis), @=97@, = (Mumps), ¥4,

52.

Humidity is measured by which of the
following instruments?

A. Barometer

B. Sphygmomanometer

C. Hygrometer

D. Hydrometer

E. None

T (Be: O): Rfes @ wwn gzm
[CEE L

FRCAE o R @19 | [HEA AN et
The American state that is nearest to GREFE | Ered e fAdee
Russia is: wfoefbr | =wa egel iR
A. Washington ~ B. Maine [SEQAE] 3B “Afewiere
C. Alaska D. Connecticut spifacaifanR | qreea sfeas sfawee
E. None SreifeE 54 oMfeq «ife fadme
At (Bea: C): &A@ ¢ofd wwaem ¢ FrEfafaoE | o offawios
@enEE e ofde | IR T SErE g qfifasE Twew Afwioe
ST JZEN THAE AR AT AW GAle @R SEfaor | Srerees offe fadrs
aft afER S Fen skfyge | afm @ SEABGE Twel fAdms
EAPF FHACEE GAg AW ee WRA A bv.e FAMoE | AYma TeEel M
fo.fa. | sErE gy afime st feEm ) sbua ZRfor | qgre wiget Afes
A q.) s WS T ffem gead REMOR | S WeAlES ey e
afeEr S (e SETE SRy T I | aEfeR | yed fRewe A
WErE SAEE 8yen wHAEy Xowa Wgfe TSABINeE | a9 Afewee
S A Sdad A | SEFR 44 FAICl €9 | 53, The French Revolution ended in the
st aiferan | @far e sErsTe aifm e year:
AT FER | A. 1787 B. 1776

51. Who is NOT a recipient of the Nobel C. 1788 D. 1799
Prize in Literature? E. None

A. Pablo Neruda B. Leo Tolstoy
C. Bernard Shaw D. Bertrand Russell
E. None

Fnt (Be3: B):

wifefers I JFHIA WA A
T TS PENe

Gl aE sS¢o

AR Tl 359

fere Beron aif<ma @omnte faram | s fawrs
feg T zel- War and Peace, Anna

Karenina, Childhood, Resurrection. fae
B HAfZre) (e J%EE #AS FEAie |

54.

A (BEq: D): dabd (ATF dapd FE AfE
Frw waln Rag @) v w00 ¢ wETeTR
@A W Fa fQerem S
ferm | wdwe, 0 ¢ Ity @ w=f
faara fofe | eeenfammee wafs fRawa fie =
T FAfH Redm @ @3 FOH GeweRm
uiffge =1 @ R FWrANR” ares WG @
[ GIZ (S0F (A 9 T JLo1a 751 = |
Which ultraviolet ray is the most
harmful?

A.UV-A B. UV-B
C.UV-C D. UV-D
E. None

12
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8.

Fyrnt (Te: C):

e wieeme wfeweld g A
sferqef afE gona v FmR, o wfEr
ARy @15 TS #iE | AYNGTHD STEHAEA A
TR whewre wfere afm @ s s
@@ TE AR GkeE  Sfeef @
weara e e a9 = |

UV-A | 93 9@ sa% v aid 99z «ft graa
foom o3 TS A | I FE T
[T A9 9 IO WS ATE |
%@ @t UV-B € UV-C @& a
wfeea |

«fbe weea ¥ waz @fS @ AmaE
3 ceirel 2 TS A @R AT
QA FICANED 1A TS A1 |

UV-B

TG wewa @3z e af | «afs
T fadm IR Ara FACS AN @R
& FEEE YR FACS AR | STEH
T A wmdEe confes @@ A
ffadire ot e FaTS “AA A |

UV-C

Which
production of hemoglobin?

A. Protein B. Fat

C. Carbohydrate  D. Starch

E. None

g (Tea: A): e gee ate w@fys
@ifo | oft e Efee 7@ fiem 4 9
WEA AR AEAW TG I@W AL @3
feramaifare FR 95 @@ @@ | e 3
7 FE | o afels s ey e
wEd Mg e ot e fmnafE Im

of the following helps in the

56.

57.

Port of Valencia is in:
A. Spain B. Morocco
C. Portugal D. Italy
E. France
It (B A): fares sl ewed @
Y IvaTIE fFEEe-
ot Y I o Y I
ferrenm Ao oo e
TR | wfeRR | e Zrgef
o S ferfemt IS
Tq
wfre%s,
b m T | oro provtat
E<CH
A SEa = fem | zam,
SrEEE
Elzila ] LI Al <17 1%
S
s C AN TR
(T
Which is a valid Excel function?
A. CONCAT B. VLOOKUP
C. TEXTMERGE D. All
E. None
gt (Bea: A/B):
MS Excel @3 CONTACT @i w5

Column @3 =¥t 9Ifaes F@ @6 T2
Column @ #faes 373 |

VLOOKUP wiz<w «=f5 Table @3 @9w
Column 9 @=f5 2 Value 3t& @@ 9@ 932
s@e ok Afsd s @36 Column (&
Value Return ¥ 1

MS Excel @ TEXTMERGE 4@ &t #9
a1

58. The spacecraft designed by Boeing is

T TGS, YRR, T, TR, FU called:
| W, few, e, WoE el e A. Starliner B. Dream Chaser
S — ’ f i ﬁ’ - C. SpaceX D. Arene

E. Skylion
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/At (BeA: A): FBEERAE 2 @i @3 tefa
TRIBA | BRI TR 79 ¢ R
O32 5eu 8 wefiw o 5 | @ sFEEEEbre
FEH Q9 GF PS G| 038 A ¢ G
BREARAR TR 506 TF04 I FArel
T ¢ 9 T2 | @R 93 TME wed
FEAIga FrmeiTe w&fgs |

59. The design capacity of the Wind Power

60.

Plant in Cox's Bazaris __ MW.

A.58 B. 62
C.64 D. 66
E. None

At (Tea: D): ™k TEEEEe Gelfa T
TR Tofd AR FHAEE S Lo TAEA
FASHTE A AY R ®E | e
37en ¢ 29w e @ Iy e @@ 2038
A b T6 AE AW SAWH &F FAE 4D
93w sfefm vo meteas F@ fage I@ ==
T (e | JAeEE Weew FHAGE TAEA
YFEE, OIS € SRFFIRIA - @ B I8faca
T TRIgTS {35 BIEEA A1 A1 A ZCAE |
2SS 12w e © N ens a e Sesifrs
TR T RO @B TeAmE vy @eedS |
Tl e @m 7o s o fmaal-

R =m “"('::" Tomm | w@gW

W@ 300 = FHIE
AT do%0 3 RULERT
A 3030 3T AparaEt
FAoa 38oo | Zew@MEN | A&l

Which country became the newest

member of NATO?

A. Finland B. Sweden

C. Ukraine D. Georgia

E. None

61.

it (¥sa: B): NATO (North Atlantic
Treaty Organization) s8> ¥I@id 8 «fzE
efefde =1 @3 WA wed @AfETTR I
T[fge | o T oF @ 3 o ) «@q
TENE A AT 0fB «@de FEHE AT HROEA |
TOIGS Ao o7 201~ SR 932 9% |

Which of the following Indian provinces

has no common boundary with
Bangladesh?

A. Manipur B. Tripura

C. Mizoram D. Meghalaya

E. None

gt (=3 A):

JEeR AN I M G MY | T
o7 ¢ TR | N SoiF ¥Ea o e,
JIFACHE TG ANt 8y .M. 7@ W
Togrea o ade ., srres e A
W wase .. w3 fmFEes Ao wh
o fFf.

SIS AN AW ANETS! @El wofb |
SATed e qey R 5 | 7™ wE,
@, fao@, craEg «3e «fowas |

fmEEd A qEeE Aes! @@ off |
- A, IR ¢ FHAGE | TN,
JIETeR AR EEEEE Al aen 2f6 |
- TR ¢ o |

eSS AN Skre ¢ famwe Tu ¢ra
F TR |

62. Which of the following is NOT an

ASEAN country?
A. Brunei B. Myanmar
C. Cambodia D. China

E. All are members

14

Eminent Publication



Eminent : IBA Job Solution (MCQ & Written)

Al (Be3: D): ASEAN (Association of
Southeast Asian Nations) &fsffs z@ v
95, SdLA | GF WA WA AFATE TIPS
%S | @3 FA9H A2 ot | Tl

TrECEE RIEGIIE fefesirzs
@ Eladicisl e

63. Which of the following is NOT one of

Professor Muhammad Yunus's 3 Zeros
for a sustainable future?

A. Zero Poverty

B. Zero Unemployment

C. Zero Net Carbon Emission

D. Zero Hunger

E. None 64.
it (Te3: D):
T, qZW T
R b T, 3580
efferel ST IF
Bankers to the poor, Three
fifvs 4% farmers of Jobra, Jorimon and
Others Faces of poverty,
Creating a world without poverty
fEs  Seare  (d5ay), WIEA
WG AFER (S5v8), FAel
FTEE (S5b-Q), (LG FTEE (o0Y),
Sk IE]
cafefmeE cres S Few (00s),
Sfef% =1tae (R0R0), HN=EN 51 W
(AR (5% SHISTAE (R01)
Three zero | Zero Poverty, zero unemploymet
model and zero net carbon emissions.

BTefS 2T (S1ITTh SFR)

Attention Please!!!

FIFS G (AF TAFTE 3 GFAT &= T L |
T foag Fqad @ G932 AEeE WA
@ ARifee AAEd @iad ETIEE §ed
AFTETNT | TG 7 A AfeI%T A7 9F2
CHIZFIIEA A A, FECE T TOTT
g wE Fe 9N & TF Tew Afe TR
AIfeT 271 IR TN AEfoF ArHT FE
TR SCE O S AP 3T | ©IF GrwE
AT FE [[FAG ARG FHT G @ AW
2R 932 MG 2THT N WATE ©Y BT 47
AR/

Who won the 2023 FIFA Women’s
World Cup?
A. Germany B. USA
C. Spain D. England
E. Uruguay
/gt (B3 C):
et A Reg=iet 00
SIS <
Toifes SrgfE ¢ e
Ay 20 FEIR-R0 95, 09
W& o3
B W6 v8f
FIRAE SIfoIEe < oot T S RS

65. What was the theme of the Paris

Olympics 2024?
A. Social business B. Life and livelihood
C. Human rights  D. Microfinance

E. None
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66.

[T (Te3: A):

2[7ifE wfefoiF 038
SCArEE 0O (FAFEI)
TGS QL FEAIR-5D B 038
Hsifes A7, FH
5 ¥l o35
fefHfam 8vf5, 2r5% vl
ferm TR G SgS (A
TFG W e

2038 ATA K% (197 forerem & @z @@
AT N Sgne SeE GRS e | 93
S o1 foree Faw sfiese 25 . 389
TR S | ANIEE G FIorE SfEreeEd
A HE FASR QN Tl | O] WA
Fq TE | ©. G o W@ WEER
REEG QL (AF2 IBIAEAT 79 FLA0R A7 |
AS ST TIPT TR W AE T
G, TEAE |

Who is the current Chairman of the
Political Bureau of Hamas?

A. Ismail Haniyeh B. Abu Ubaida

C. Yahya Sinwar D. Khalid al-Hayya

E. None

[t (T=3: E):

MRS A N qEAreE  =WE g4
fRTe | ©3 TR 2038 48 T ot fige = |

Abu Ubaida T=sa ffEbifa =@ g2 |

Tfzm ez zom menw fxem asew
fefafe aremifelv «3z IR FEtares =4[
gqm | o7 g Faee 939 ey 7z-
ofSorer fere | @ WD 038 TIE IR
IEAfeE |AE Y4EE wWIe WE T M4
TCFRE 038 TREE @F e o fazs
ETh

Khalid Al-Hayya I$9a IEGE d@iaies
JrER @S GIETE |

67.

68.

69.

70.

Which product recently lost its
Geographical Indication (GI) tag from
Bangladesh to India?

A. Baluchari saree B. Tangail saree

C. Kolu saree D. Jamdani saree

E. None

17T (Bea: B): SiEsa g TEEE 2038 AE
R T e SmiRa =’ 3 Senza =i .
@ I Brnze =Nfers e« e fgfe
T | k038 AR b @FA SoRa =fers fermnz
* e e fre Siaws Fw@w SRR
(STl TS | Q TR ferR ooy i TR
=fere Rgfe o P TEomEs S@= 15,
gl ¢ Gua SfMed 9 b @R 9
FEE I IS = |

Recently, which country has proposed a
three-day weekend?

A. Canada B. Saudi Arabia
C. Singapore D. Tunisia
E. Qatar

iyt (Te2: B): wrefes www oiifn 9I&<
AeZE © 7 TGEF @EN I | 038 AR
G5 W qARfSes NGy Ee few
T framfsfer afesm affen s3ma wenz
fex farea 3 saR el R |

Who has recently broken the record
held by Michael Phelps in the 400m
swimming competition?

A. Leon Marchand B. Lewis Clarnburt

C. Alberto Razzetti D. Cedric Buessing

E. Adam Peaty

I (BeA: A): 00 A @3 FFHAFE 8
IS8 co.b8 TS AreIE 8oo fGR wfeww
T frase s@Es T¥EE @A | A o
Ao fed TS 018 AT AFA1E Ao
8oo fiBR ferE™ Ters @ @ W@ 8 G
0}.5¢ CTACT Wfeww IR WRFA (T40[
EFFE ST |

Which country is severely affected by
the recent MPox outbreak?

A. Kenya B. Senegal
C. Djibouti D. Congo
E. Ethiopia
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7t (e D): 999F 93 ST @t |
q @ME T AR MEAF SRA | Seh A
(ETIIE IAEE () MR @ @ 2R/N AGE
T | S50 FAE FH LTISLE TGED AR AW
«fs Fre 23 | @ @ @& e wirer ffeg
s (Rrews sireifgs 0 gwmeg) | WHO

203 EE GER WG Sy e
GIAFE AT TF TG TG | 38 196, 038

WHO feeimere faggre avose oefa o<yl
wifd | @913 aferany 038 AE 32T, FHA,
T IEAE, RIS 9R FAEEe MVA-
BN =tx Bt Srame 3t | 9%ret wiee LC16
@3z Fif*R1 OrthopoxVac w1ty guotsa e
B! Srme SR |

AT : TP AT TE NS B |

T@ FAAG A A T AR | 4F6 R
SfiEe O W AR TR fed wE ) we@m
AT Serew e S, qE wew el
Tarw, ¢ WeAEeR W e afia fre
AR | Tamd Sfie FE e e e
oife S zeq, g aa wrnenf om e
Taare ¢ e fifeg rveta eFend sfual o
A A0S | T 9107 B S S qwAe
@32 © TS0 Fed e 120 A #{1 |
el @ WIS 2@ AT A4 F1E A AT
ol Sei w9 | @FEs T@ T oF e afe
TN T, O@ O R Tafed T ewedd
il F1te «a | fHifwe wfe Safeq «itd afita
wWre AE | Ted 3w Sgfe Emm, omfe,
2fezm, ¢ siglen €l wW e ¥, o3 o[l
FAAME T 4T € TYRA @ Seiws AnE, 4@
T*E ST Salfwe F90F |

TGERIES FE: 2ad e [{fey s
AN F@FTerd Iezd Fare nd | ey
Afara wad Torfv faw fca w@ e smeTs!
el Fare ANE | AR T e ANIGS

NN @32 STATI SIS T, [l NIEE Sarere
ST A |

AGAST AESFS!: @ TG WM*E AGATeS
o FTTel Fare ANG | DA W AT
e, fTeE ¢ wWrEfor AfetE @
SCAES TS AE | R gre ATl
SN W T@EfEE, Teufw wEe e ffeg
4T € TSR ATF TR S ANA |

e ¢ afsy A mer gl ¢ afey
TF IR VNS TAWmd $%F AR | B TG
SIwa TSl ¢ VRN NG WA AFfea
SFIIA X FACS AR | S| A, Ffel, 7Ry,
5%, T ToE W AR AEle WrEd
Ty = frs #ia |

R o1 @ TwrRAl ; W A = T o
@R TERAR T Red AR Fare A | e,
o7, fofes, fg ¢ Sy Tt =@ S T
gl A meee weeifere sl ate i
Sl TATE T A ], A SuRE ¢ Tawd
AY RIS Al |

a3 T NG AW Sd wifag FAIEeE A
TR, O MT*E SREe THe A 1 | 7amd
T I WEEE, TEel, G Gifed T I
TR IR A, T SAR TG T 4FS
Tafe a1 o2 2ema Tfve frama forsr, e,
@ FE TG T 197w WA = Afaw zeat |
Challenges and prospect of green
energy in Bangladesh.
Challenges and prospect
energy in Bangladesh.
Green energy refers to renewable energy
sources that have minimal environmental
impact and contribute to sustainability. For
Bangladesh, a country heavily dependent
on fossil fuels for energy generation, the
transition to green energy offers immense
potential. However, the path to a cleaner

and greener energy future is fraught with
challenges. Despite these obstacles, the

of green
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prospects for green energy in Bangladesh
are promising, offering a way forward
toward energy security, economic growth,
and environmental preservation.

Challenges of Green Energy in
Bangladesh
Limited Infrastructure : One of the

major barriers to the adoption of green
energy in Bangladesh is the lack of
sufficient infrastructure. The country's
power grid is primarily designed to
support conventional energy sources like
natural gas and coal. The integration of
renewable energy into this grid requires
significant investment in modernizing and
expanding the infrastructure. Additionally,
the existing transmission and distribution
systems are often inefficient and prone to
outages, making it harder to reliably
deliver renewable energy across the
country.

High Initial Costs : The initial investment
required for renewable energy
technologies, such as solar, wind, and
hydroelectric systems, is high. While the
long-term benefits of green energy far
outweigh the costs, the upfront capital
required can be a significant barrier for
both private investors and the government.
For a developing country like Bangladesh,
with limited financial resources, securing
funding for large-scale renewable energy
projects can be difficult.

Geographical and Climatic Constraints
: Bangladesh's geographical features pose
unique challenges to the widespread
deployment of certain green energy
technologies. For instance, although the
country has a significant amount of
sunlight, there are limitations in wind
energy potential due to its flat landscape
and relatively low wind speeds.
Hydroelectric power generation is also

constrained by the country's limited
number of rivers and the challenges of
building large dams in densely populated
regions. These limitations make it harder
to diversify the energy mix with certain
renewable sources.

Policy and Regulatory Hurdles: The
regulatory framework for green energy in
Bangladesh is still evolving. While there
have been significant strides in creating
policies that promote renewable energy,
inconsistencies in policy implementation,
lack of clear incentives, and bureaucratic
red tape continue to hinder progress.
Additionally, fossil fuel subsidies in the
country create market distortions, making
it difficult for renewable energy projects to
compete on a level playing field.

Energy Storage and Reliability
Renewable energy sources like solar and
wind are intermittent, meaning they do not
produce a constant flow of power. The
technology for large-scale energy storage,
such as batteries or other forms of energy
storage, is still underdeveloped in
Bangladesh. This makes the reliability of
green energy sources an issue, especially
when there is a need to ensure continuous
and stable energy supply for the country’s
growing population and industries.

Prospects of Green Energy in
Bangladesh
Abundant Solar Energy Potential:

Bangladesh has one of the best potentials
for solar energy in South Asia. With high
levels of solar radiation throughout the
year, solar power is an ideal solution for
the country’s energy needs, especially in
rural areas. The government has made
significant strides in promoting solar
energy, with initiatives like the installation
of solar home systems (SHS) in rural

18
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areas. The growth of decentralized solar
power systems could reduce the burden on
the national grid and provide affordable
electricity to underserved communities.
Job Creation and Economic Growth :
The green energy sector in Bangladesh has
the potential to create thousands of jobs,
from research and development to
manufacturing and maintenance  of
renewable energy systems. This could help
reduce unemployment, especially among
the youth, and drive economic growth.
The global shift toward green energy also
opens up export opportunities for
Bangladesh, such as manufacturing solar
panels or wind turbines, tapping into
international markets.

Energy Security and Diversification :
Bangladesh's heavy reliance on imported
fossil fuels has made its energy supply
vulnerable to global price fluctuations and
supply disruptions. The development of
domestic  green  energy  sources,
particularly solar and wind, would reduce
this dependency and enhance the country’s
energy security. A diversified energy mix,
with renewables playing a significant role,
would ensure more stable and reliable
power generation, lessening the country's
exposure to global energy market
volatility.

Environmental and Climate Change
Benefits : The environmental benefits of
green energy are particularly significant
for Bangladesh, a country that is extremely
vulnerable to the impacts of climate
change, including floods, cyclones, and
rising sea levels. By transitioning to
renewable energy sources, Bangladesh can
reduce its greenhouse gas emissions,
contributing to global efforts to mitigate
climate change. In addition, reducing
reliance on fossil fuels will improve air

quality and reduce pollution, leading to
healthier ecosystems and communities.
International Support and Funding :
The global push for sustainable
development has led to increased support
for green energy projects in developing
countries like Bangladesh. International
organizations, such as the United Nations,
World Bank, and various non-
governmental organizations, are providing
financial and technical support for
renewable energy initiatives. Bangladesh
has already attracted funding for several
large-scale solar projects, and this trend is
expected to continue, further boosting the
development of green energy in the
country.

Rural Electrification: Green energy has a
crucial role in electrifying remote and
rural areas of Bangladesh. As the
country’s grid struggles to reach every
corner, decentralized solar power systems
can be a cost-effective solution. Many
NGOs and local communities have already
adopted solar technology to power homes,
schools, and businesses in off-grid areas,
improving access to electricity and
contributing to socio-economic
development.

The transition to green energy in
Bangladesh presents both challenges and
prospects. While the country faces hurdles
related to infrastructure, funding, and
regulatory issues, the benefits of green
energy far outweigh these challenges.
Solar energy, in particular, holds immense
potential, given Bangladesh's favorable
climate conditions. Moreover, the move
towards renewable energy could help
ensure energy security, create jobs,
mitigate the impacts of climate change,
and drive sustainable development.
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With continued government support,
international cooperation, and private-
sector investment, Bangladesh can
overcome its challenges and realize the
full potential of green energy. The future
of energy in Bangladesh is green, and the
opportunities are vast. It is now up to the
government, industry, and citizens to seize
these opportunities and build a sustainable,
low-carbon energy future for the country.
A certain violet paint contains 30
percent blue pigment and 70 percent
red pigment by weight. A certain green
paint contains 50 percent blue pigment
and 50 percent yellow pigment. When
these paints are mixed to produce a
brown paint, the brown paint contains
40 percent blue pigment. If the brown
paint weights 10 grams, then the red
pigment contributes how many grams of
that weight? (@3 f#2 @ef ate vo *rere
T qGF QR 0 SR T IGT G (NI
e | 936 W2 wgE e o e A aGF
G2 o TSI W AU AE | T 9% Aeefa
fifere a3 @3 amifs ¢ tofa =1 2w, o
IR AT 8o *eT Aot AGd <AE | I W
AT GO do AN T, OLA AM IGF & ST
FC G F9 0L 1)

AL :

Say Violet Paint = 100 Litres (30 Litres
Blue + 70 Litres Red)

Say Green Paint = 100 Litres (50 Litres

Blue + 50 Litres Yellow)

Total Mixture would be = 200 Litres

(80 Litres Blue + 70 Litres Red + 50 Litres
Yellow)

40
Blue paint= 100 x200= 80 Litres

e
Red paint= 200 x10=3.5

Sazid is planning a tour, and he has
$360 for his expenses. If he extends his
tour for 4 days, he must cut down his
daily expenses by $3. What is the length
of Sazid’s tour in days? (vifew @af o
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FAAHYI :
Suppose, The length of the Sazid’s tour be
x days
According to the questions,
360 360 _
3 X+ 4
360x + 1440-360x
X(x +4)
= 1440 = 3x> + 12x
=>x*+4x-480=0
= x> +24x-20x-480=0
=>x(x+24)-20(x+24)=0
=(x+24)(x-20)=0
Now, the value of x =20 & -24
Hence, the length of Sazid’s tour is in 20

days.
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